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Read the following four passages ond
aneurer  the Hems  that  follow each
passage, Your answers to these items
showld be based on the passages only.

Pagsage -1
'I‘lw sgubject of democracy has
become severely muddled beeause of the
way the rhetoric surrounding it has been
used in recent years. There is
increagingly, an oddly confosed dichotomy
between  those who want fo  ‘impose’

demoeracy o¢n  countries in  the

non-Western world {in these countries’
‘own interest’, of coursel and those who
are opposed to such ‘impesition’ (because
of the respect for the countries' ‘own
ways). But the entire language of
‘impesition’, used by both sides, s
extraordinarily inappropriate  since it
makes the implicit assuomption that
democracy belongs  exclusively to  the
Weat, taking it to be a guintessentially
Western” idea which has originated and
flourished only i the West.

But the thesiz and the pessimism
it generates about the possibility of
democratic practice in the world would he
extremely hard to justily, There were
severnl experimente in local democracy in
ancient India. Indeed, in understanding
the roots of democracy in the world, we
have to take an interest in the history of
people participation and pablic reasening
in different parts of the world. We have to
loek beyond thinking of democracy only in
terms ' of Kuropean and American
evolution. We would fail to understand

1

(2 =4

the pervasive demands for participatory
living, on which Aristotle spoke with
far-reaching insight, if we take democracy
to be g kind of a speclalized cultural
product of the WesL.

It cannot, of course, be doubted
that the institutional structure of the
contemporary practice of demoeracy is
largely the product of Furopean and
American experience over the last few
centuries. This ls extremely important Lo
recognize since these developments in
institutional [rmats were  immensely
innovative and ultimately effective. There
can be little doubt that there 15 a8 major
Western® achiovement here,

Which of the following is closest to the
view of demecracy as mentioned in the
above passage |

(n) The subject of democracy is a muddle
due to a desive to portray it as a
Western  concept,  ‘alien’  to
non-Western countries,

by The language of imposition of
democracy is inappropriate. There is,
however, a need to consider this
concept in the backdrop of eulture of
‘own wavs' of non-Western society.

{e}  While democracy is not essentially a
Western idea belonging exclusively
to the West, the institutional
strueture of eurrent  demoeratic
practices hag been their contribution.

idl None of the etatements (a), (b) and
(e} given above is correet.
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With reference to the passage, the
following assumptions have been made :

1.  Many of the non-Western countries
are unable to have democracy

because they take democracy to be a

specialized cultural product of the
West,

2.  Weslern countries are always trying
tn impose demoeracy on non-Westeorm
eountries,

Which of the above
Asgumptionfasgumptions 7

isfare  valid

tal L only

(b} 2 only

{e) Both 1 and 2
(d) Neither 1 nor 2

Passage - 2

Corporate governance is based on
principles such as conducting the business
with all integrity and fairness, being
transparent with regard to  all
transactions, making all the necessary
diselosures nnd decisions, ecomplying with
all the laws of the land, accountability and
responsihility  towards the stnkahn]dgn:
and commitment to condueting business
in an ‘ethieal manner, Another paint
which iz highlighted on corporate
governance is the need for these in control
Lo be able to distinguish between what are
personal  and  corporate  funds  while
MENAFINE & COTnpany.

Fundamentally, there is a level of
confidence that is associated with a

=5

company that i known to have good
corporate governance. The presence of an
active group of independent direclors on
the board contributes & great deal towards
ensuring confidence in the markoet,
Corporate governance is known to be one
of the criteria that foreign institutional
investors are increasingly depending on
when deciding on which companies to
inveslt in; It is also known to have a
positive influence on the share priee of the
company. Having a clean image on the
corporate governance front couold alaso
make if easier for companies to source
capital at  more redssonable  costs
Unfortunately, corporate governance often
becomes the centre of discussion only after
the expozure of a large scam.

According to the passage, which of the

ollowing should be the practice/practives

in good corporate governance ?

1. Companies should always eomply
wilh labour and tax laws of the land,

2. BEvery company in the country should
have o povernment representative as

o of the independent directors on
the board to ensure transparency.

4. The manager of a company should
never invest his personal funds in
the company,

Select the correct answer uging the codes
eriven balow -

fa) 1 only

(by 2and 3 only
igh 1 and 3 only
fdl 1,2and3
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According to the passage, which of the
following isfare the major benefit/benefits
of good corporate governance ?

1. Good corporate governance leads to
increase in  share price of the
company.

2. A company with pgood corporate
governance always  inereases it
business turnover rapidly,

3, Good corporate governance is the
main criterion for  foreign
institutional investors when they
decide to buy a company.

Select the correct answer using the codes
given below :
ta)l 1 only
ib) 2 and 3 only
e} 1 and 3 only
{d} 1,2and3
Passage - 3

Malnutrition mest  commenly
oceurs between the ages of six months and
two years. This happens despite the
child’s food requirements being less than
that of an older child. Malnutrition is
often attributed to poverty, but it has
been found that even in households where
adults eal adequate quantities of food,
more than 50 per  cenl of
children-under-five do not  consume
enough food. The childs dependence on
someone else to feed him/her is primarily
respongible for the malnutrition, Very
often the mother is working and the
responsibility of feeding the young child is
left to an older sibling. It is therefore
crucial to increase awareness regarding
the child's food needs and how to satisfy
them,

(6 - A

According to the passage, malnutrition
in children can be reduced

ta) if the children have regular intake of
fiood.

(b} after they eross the age of five,

ted if the food needs of younger children
are known.

(d) if the responsibility of feeding
younger children is given to adults,

According to the author, poverty is not

the main cause of malnutrition, but the

fact that

1. taking care of younger ones iz not a
priority for working mothers,

2. awareness of nutritional needs is not

propagated by the Public Health
authorities,

Select the correct answer using the code
given below ;

fal 1 only

ib) 2 only

ic} Both 1 and 2

(d) Neither 1 nor 2

Passage - 4

A number of empirical studies find
that farmers are risk-averse, though only
moderately in many cases. There is also
evidence to show that farmers' risk
aversion results in cropping patterns and
input use designed to reduce risk rather
than to maximize income. Farmers adopt
a number of strategies to manage and
cope  with  agricultural risks. These
include practices like crop and field
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diversilication, amployvment,

non-farm

gtorage of stocks and strategic migration

of family members. There are also
institutions ranging from share tenancy to
kinship, extended family and informal
credit agencies, One major obstacle to risk
gharing by farmers is that the same type
of risks can nffect a large number of
farmers in the region. Empirical studies
show that the traditional methods are not
adequate, Hence there is a need for policy
interventions, especially measures that
eut aeross geographical regions,

Policies may aim at tackling
agricultural risks directly or indirectly.
Examples of risk-specific policies are crop
ingurance, price stabilization and the
development of varieties resistant to pests
and diseases. Policies which affect risk
indirectly are irrigation, subsidized credit
and aceest to information. No single
risk-zpecific policy is sufficient to reduce
risk and is without side-effects, whereas
policies not specific to risk influence the
general situation and affect risks only
indireetly. Crop insurance, as a policy
measure to tackle agricultural risk
directly, deservés careful consideration in
the Indian context and in many other
developing countries — because the
majority of farmers depend on rain-fied
agriculture and in many areas yield
variability is the predominant eause of
their income instability.

7.

{8 -A)

The need for poliey intervention Lo
mitigate risks in agrieulture is because

{a}
(b}

farmers are extremely risk-averse.

farmers do not know how to mitigate
rigks:

(c) the methods adopted by farmers and
existing rizsk sharing institutions are
not adequate.

majority of farmers depend on
rain-fed agriculture.

Which of the following observations
emerges from the above passage 7

{a) Omne can identify a single policy that

can reduce risk without any
aide-effect.

No single risk-specific policy is
sufficient to reduce agricultural risk.

ic} Policies which affect risk indirectly
can sliminate it.

(db

b}

id) Government's policy intervention can

mitigate agricultural risk completely.
Consider the following siatements :
(il A primary group is relatively smaller
in size.
(it) Intimacy in an ezsential
characteristic of a primary group.
{iii} A family may be an example of a
primary group.

In the light of the sbove statements,
which one of the following is true ?

{a)
(b}
(e}

All families are primary groupe.

All primary groups are families,

A group of smaller size is always a
Primsry group.

Members of a primary group koow
each other intimately.

(dy
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10. Four friends, A, B, C and D distribute |[18. Which one of the following pairs of cities’
some money among themselves in such a is connected by any of the routes directly
manner that A gets one less than B, C without geing to any other city ?
gets B more than D, D gets 3 more than (a) Pand T
B. Who gets the smallest amount ?

{a} A (b} Tand$S
a1
b B (e} Qand R
{d) None of these
(e} C
dd D ; i )
14. Betwoen which two cities among the pairs

Directions for the following 4 (four) ifems @ of cities given below are there maximum
Read the following statements and answer travel options available ?
the four items that follow : (a) Qand S
Five cities P, Q, R, S and T are connected (b) Pand R
by different modes of transport as fel Pand T
P and Q) are connected hy boat as well as Directions for the following 2 (three)
rail. i 3
SRR AW omIe b S B S Read the following passsge and answer
@ and T are cannected by air only. the three items that follow :

P and R are connected by boat only. : . _
T and B are connected by rail and bus: A tennis eoach iz trying to put
together a  team .of four players for

11, Which mode of transport would help one b furthmmmgl muz:namﬁnt'. i thlsl
o Teah B atarting om0 bk witkowt T play_ers are available : males A, B and C;
changing the mode of transport 7 and females W, X, Y and Z. All players
(4) Baat have equal eapability and at least 2 males
b Rail will be there in the team. For a team of
{_ four, all players must be able to play with
te) Bus vach other. But, B cannot play with W, C
d} Air cannot play with Z and W cannot play

with Y.

12, If a person visite each of the places L b
starting from P and gets back to P, which [15. 1Y is selected and B is rejected, the team
of the following places must he wvisit will consist of which one of the following
twice ? groups. 7
ia) @ fa) A C Wand¥
ihi R bl A, O, Xand ¥
) 8 fc) AC YandZ
dy T dy A& W, YandZ bi

B-BRO-M-HTB (10 - A )
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16.

17,

18,

{g) Rohit, Shobha, Kunal and Kaushal |21

ib} Tanya, Kaushal, Shobha and Rohit

(e} Tanya, Mukesh, Kunal and Jaswant

(d? Shobha, Tanya, Rohit and Mukesh
B-BRO-M-HTRE (12 -A)

If B is selected and Y i3 rejected, the
teamn will consist of which one of the

following groups 7

(a) A B, Cand W
) A, B, Cand %
e} A B, CandX
(d) A W, Y-and &

If all the three males are selected, then
how many combinations of four member
teams are possible 7

fa) 1
by 2
(e} 3
d) 4

The music directer of a film wants to
select four persons o work on different
aapects of the composition of a8 piece of
muzic. Seven persons are available for
thizs work; they are Rohit, Tanya, Shobha,
Kaushal, Kunal, Mukesh and Jaswant.

Rohit and Tanya will not work together.
Kunal and Shobha will not worl fogether,
Mukesh and Kunal want to work
together.

Which of the: following is the maost
acceptable group of people that can be
selected by the music director ?

18,

Five people A, B, C, D and E are seated
about a round table; Every chair is spaced
equidistant {rom adjacent chairs,

(i} € is seated next to A,

{ii) A is seated two seats from D,
{iti} B is not geated next to A,
Which of the following must be true ?
(I}  Dis seated next to B,

() Eis seated next to A

Select the correcl answer from the codes
given below :

tal 1 only

(b} II only

(ch  Both I and 11
(dl  MNeither T nor 11

Directions for the following 3 (three)
ftems :

20.

Examine carefully the following statements
eerel answer the three itoms that follow
Out of four friends A, B, C and I,

A and B play foothall and encket,

B and C play cricket and hockey,

A and D play baskethall and foothall,

C and I play hockev and basketball,

Who does mot play hockey 7
ia) D

(b} €
@) B
fd) A
Who
hockey 7
fa) D
th) C
&) B
(dy A

plays foothall, basketball and
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ot B ogm ow 3@ Y 7 g e, @ ém
Fer=fefrs vt 9 foow o @ Fww @ ¢

fa) A B CHRW

by A B C3RE

(e ABCIRX

(d) A W, Y32

oft vt @9 gl & g e ww, @ oAw
w1 2 & B T e E 2

() 1

by 2

(¢} 8

(d) 4

18, Tt frey @ ofa Fdere oo Wt Tomm &

B-BRO-M-HTB

fafte el W oW o & e wR i
® g e € | 3 @ b fow e =i
Fuprn & F # Gfem, e, g, S, g
i MR FwET |

Afem st A wer & A

gomTe sty g e w A |

w3 U W W B 9 f |

Pt 4 & ®i-w1, il &) Wit we
g & o o Blw sm g s wem £ ¢

(a) Afim, virw, gomer 3R B

: 21,
(b) e, S, ww o AT
(o) dFa, T, Tome R S
(dy s, e, DfeE sk g
[ 45 = A

19.

ifg @ifis A, B, C, D 3l E v it 37 & axl
i 45 § | e o wiRwe gl & W
g e # | :

i) CASToazdai# |

(i) A DH & g anh dan 2

(iit) B, A% wia o 7 dm # |

Prafefiaa & & #-mR ygwg e 4 ?

(h D,BEFgoa=dsd)
() E, A% ger o 85 § |

9 fe e g @ E e FR e
fa) ®ad 1

(h) ohaEe 11

() 13 11t

d) FMIAS

Prse 3 (of) el & R B +

Frefrfier woet @ v} & wfew sibe
st b arr A G A geEEl & O
i «
e fimi A, B, Calt DA ¥,

Ak B g s ke g 8

B 3k C e 3w &gt @ €,

A st D a3 gode 2 E

C st D gt stz areseate ded § |

i Pt 7 T 2

(a) D

(bi C

ey B

d} A

At ATEhEATY i FE B Aam e P
(a) D
(by C
ic) B
fd} A
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Which game do B, C and D play 7
(a) Basketball

(b} Hickey

(e} Cricket

id}  PFootball

Geeta is older than her cousin Meena.
Meena's brother Bipin iz older than
Geeta. When Meena and Bipin visit
Geeta, they like to play chess. Meena
winsg the game more often than Geeto.
Based on the above information, four
conclusions, as given bolow, have been
made. Which one of these logically follows
from the information given above 7

tal While playing chess with Geeta and
Meena, Bipin often loses.

ih) Geeta is the oldest among the three.
te) Geeta hates to lose the game.
id) Meena is the youngest of the three,

Directions for the following 4 (four) items :

B-ERO-M-HTE

Read the following passege and answer
the four items that follow. Your answers
to these items sghould be based on the

passage only,
Passage

Financial markets in India have
acquired greater depth and liguidity over
the vears, Steady reforms since 1991 have
led to growing linkages and integration of
the Indian economy and its financial
system with the global economy. Weak
global economic prospects and continuing

{14 - A

uncertainties in  the international
financial markeis therefore, have had
their impact on the emerging market
sconomies. Sovereign  risk  concerns,
particularly in the Furo area, affected
financial markets for the greater part of
the year, with the confagion of Greece's
sovereign debt problem spreading to India
and other ecconomies by way of
higher-than-normal levels of volatility.

The funding constraints  in
international financial markets could
impact both the availability and cost of
foreign funding for banks and corporates.
Since the Indian financial system is bank
dominated, banks' ability to withstand
pltress ig eritical fo overall fnooncial
stability. Indian banks, however, remain
robust, mtwiihatand:ing a decline in
capital to risk-weighted assets ratio and a
rige in mn-—pi;rfnfming assel levels in the

recent past. Capital adequacy  levels
remain above the regulatory
requirements. The finaneial market

infragtractury  eontinues  to funetion
without any major  disruption.  With
further  globalization,  consclidation,
deregulation, and diversification of the
financial system, the hanking business
may becoms more complex and riskier.
lssues like risk and liquidity management
and enhancing skill therefors nssume

greater significance.
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. BeskDEmmanam @ ?

{a) @TEHCAIE
(by E
(c) T

(d) g

e s oy e e & aw o wdr @ | de
e A R mAemd | T
oty Bfir der % wr T & & % TS
deer e wed £ | e 2 s W W
st &R Fadt 2 |

T e & smaw o, A e e A Pl
frmret T2 € | Y @ S o, W @
o ¥ e ¥ { aaia A g 7

(a) e 3 A & B e 9o wed,
fifee s ERAT & |

h) it mm @ ¥
(¢) T W@ ERE w5 e |
) WAt TR TP

Fr=iftfira 4 (aw) et & B Ade

Frfafies oftege @t offe st s @ &t
o T & Fav AT | 59 Ree & s
¥ =W oivale o & smmfie g eiRe |

ofteRa
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qEe e 3l e Wm A g | 1991 A
e AR QU fws anfermen & e

[15 = A

e i geeh fadla sgasen & sidaet
ity rerasor B 1 wgTn & | gt sRRiE
Tt A gde fea wnffis warmst #R
s o sfafest o el g e
et o e WWE B £ | adin
sfam # 38 el A, st gl dm A,
b1 1 e B
=, o T wferm & woo=a A it 39
W F W A wEa A e adarmenat & e
w1 &, g of i gee fem S Tt A &
waae Foean & |

g T w6 P aend
&= st Ferdt & e faieft Frdom &t surem
sttt v St @ e o w1
wrarg fida @3 4 d5 @ e & f @
T @ g gF B e gf Rl R &
fore ags wewgl @ | ewilfs, W 4, T
& adl # 4 F FfEmwRe Refid ©
s # fime ot iv-Fremreged ot
¥ wrl ¥ g & aeE Aoe @ v € 1
e W Frms smEaas § 3R 1 g
# | fadrg aem i s WRE T
w8 TaEe & ofefee & @ & 1 3 R
w T i e feeendfiew, dued,
fafspdam st ffadowor g9 w & = sk
s fee o Ffemyt & wwm ¢ | @
uiier # FfEn ik wWew & wEoT A
pomel ¥ gy 0 g ok st wewy @
e E |
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25.

B-BERO-M-HTB

e & mt A fedg aERt ¥ wRa Wfia e
T AT adeERneE 9T s s g
BiEr & ?

1. ghm dffes anfls wend |

2. e Tadig A @ FFReEEt |
3, I e e Afam & FOER |

A, I A AR e wwa d @
i e e ge W wm AR we I g

{a) ¥@ 132

by 1,233

(¢} %@ 2R3

(d) 2, 334

Prefafia 4 4 mrme fead s wRER

foefra e Fremandt oRedel & wnfe @

wE?

(a) T & ifm ofl & = ge ofaE &
BRY |

(b) Tl me R & seafts gfe S w1 |
) a3 g fows sindddl sk wwam fei

AT T Ui & R |

(d) e ® OR WO G & o &
Geirdti i

wRedE & seR, WRom Befe i o9, ol
B fere gfftes s & fw = &
T o B e Aeeayel @ auis e
faeia o9

(a) WeA TR g Ffe g d |

(h) & % o on wdiga & |

(e} wRdrT R #w g Foba dm )
(d) wHsi Ty # |

8 Al

27. Pr=ffan § & fes oo #faw i meEm

® e = v ¥ wRAm @ 93 o afte
T e w7

1. i wites FeasrdEor |

g Tadm dr om R wEw WweA AR
fafaga |

1. i 93 @ s it Rl |
4, arfern § 3R st e T |
4 R me g @ W 3 e I g
(a) 1,233

(by 2,334

(c) e 1 3t 2

(d) o 3 3w 4

e Fiaw A o #F wE &, #9 o,

Hhee, WeRd, FRepTel 3R amEer |
mEr A wE R R B Pea g
@it o wE e A B R f
A T g i A e e @ e
e W i B e # ok wee
T T R s e e | 180 R B
ez it ot W e AR v @ R el
#7?

(a} 3
(b} O
(¢} 10

{dy 18
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a1,

B-BRO-M-HTB

A B, C, D and E belong to five different
cities P, @, R, 8 and T (not necessarily in
that order). Each one of them comes from
a different city. Further it is given that ;
1, Band C do not belong to Q.

2, B and E do not belong s P and R,

8. Aand C donot balong to R, S and T.
4. DandE donot belong to § and T.
Which one of the following statements is
not correct 7

ta} C belongs to P
{b} D belongs to R
{e) A belongs to @
(d} B belongs to 5

Beven men, A, B, C, D, E, F and G are
standing in a gqueue in that order, Each
one is wearing a cap of a different colour
like wviolet, indige; blue, green, yellow,
orange and red, D iz able to see in frant of
him green and blue, but not violet. E can
gee violet and vellow, but not red. O can
see caps of all colours other than orange.
If E iz wearing an indigo coloured cap,
then the colour of the cap worn by F is

(a] Blue
(b} Violat
{€¢) Red

fdi Orange

There are some balls of red, green and
yellow colour lyving on o table, There are
as many red balls as there are yellow
balls, There are twice as many yellow
balls as there are green ones, The number
of red bhails

(e} is egual to the sum of yellow and
green balls:

is douhle the number of green balls.

is equal to vellow balls minus green
balis.

eanngt be ascertained,

b
]

{d)

Directions for the following 2 (two) items =

a2,

{18 - A}

Read the follmwing passoge and answer
the two ttems that follow. Your answers io
these items showld be hased on  the
passage anly. el

Pas=zage

Crude mineral oil comes out of the
earth as a thick brown or black Hguid
with a strong smell. It i & complex
mixture of many different substances,
each with its own individual qualities.
Most of them are combinations of
hydrogen and carbon in  varying
proportions, Such hydrocarbons are also
found in other forms such as bitumen,
agphalt and natural gas. Mineral ol
originates from the ecarvasses of tiny
animals and from plants that live in the
sea. Ower millions of years, these dead
creatures form large deposits under the
sea-bed; and ocean currents cover them
with a blanket of sand and =ilt. As this
mineral hardens, it becomes sedimentary
rock and effectively shuts out the oxvgen,
8o preventing the complete decompogition
of the marine deposits underneath. The
layers of sedimentary rock become thicker
and heavier. Their pressure produces
heat, which transforms the tiny carcasses
inte crude oil in & process that is stifl
going on today,

Mineral oil depogits under the sea do not
get completely decomposed because they

{a)  are constantly washed by the ecean
currents,

become rock and prevent oxygen
from entering them.

contain a mixture of hydrogen and
carbon.

nre carcasses. of organisms lving in
saling conditions,

(b
{ch

(d)
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st T A # (ePrrdn = ma # ) | g N
e o P e 9 # | g @

1. BIRC7mQATE |

2. BIRETRPIRRAFEEI
3. AMRC FERSIRTHATEE |
4 DIRETRQIMTATE |
frmfefam # & #9-ww oo ol o & ¢
(a) C,"RPHE

(b} DR ERARZ

€ ATRQAE

(dy B, sw#
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(e)
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e,
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B Fr d
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(18 —A )

Freafrfty 2 () meain) & e A -

Freferfiae el o offe 3l Jmt s ot &t
FErE & O Sl | g REEl & HE IO
gw offede ov £ smenfRe B9 ofée o

uftais

e WieE oE FEE U e e i
Wy M T W Y e w00 aE I
2 | @ wis fofim e @, s s &
o e o 8, Ste Mo @ | A el A
@ it e sue 4 esgem sk wds
& Fam £ | 39 PN & Egsm gt wl,
A ST (e, S a arls i & e
# ot ow I # | o o T 4w ad
o et & gl e didt & senfer d
2 | vmEt ol & de, wupaw § w9 St @
faome & 5w @ = & aw agd w3
A TR & amaet f e W # | w
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# 3t mwE B0 § s B awy O da
&, forrst o & g Al ot oW oot s
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(a) wgE o # P e e #

by e a9 I § i ol @ o mae
FHAAsaa E

fe) ErgdEm s o= = fam wafee &9
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(d) vy zwmdt & 03 @ TE G &
g # |
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Sedimentary rock leads to the formation

of oil deposits because

(a) there are no saline conditions below
it.

(bl it allows some dissolved oxvgen to
enter the dead organic matter below
it.

(e}  weight of overlying sediment layers
causes the production of heat,

fdl it contping the substancez that
catalywe the chemical reactions
required to change dead organisms
into oil.

In a class of 45 studentz, a boy is ranked
20" When two boys joined, his rank was

dropped by one. What is his new rank
from the end #

(a) 25
(h) 26
(g) 27
(d) 25"

A thief running at 8 km/hr is chased by a
policeman whose gpeed ig 10 lomd'he, I the
thief is 100 m ahead of the policeman,
then the time required for the policeman
to catch the thief will be

fa) 2 min

{(b) 3 min

{c) 4 min

td} 6 min

A train travels at a certain average speed
for a distance of 63 km and then travels a
distance of 72 km at an average speed of
& km/hr more than its original speed. If' it
takes 3 hours to complete the total
journey, what is the original speed of the
train in km/hr ?

fa) 24

(b} 33

(e} 42

(d) b6

Directions  for the following 7 (seven)
tems ;

Read the folfowing hee passages and
answer the ilems thal follme each passage,
Your answers o these dlems should be
brsed on the passages only,
Passape < 1

The law in many parts of the world
increasingly restricts the discharge of
agricultural slurry inte watercourses, The
simplest and often the most economically
gound practice returns the material to the
land as semizolid manure or as sprayed
glurey. This dilutes its conecnbration m
the environment to whalt mighl have
pecurred  in oA more primitive  and
sustainable type of agricalture and
eanverts pollutant into  [ertilizer. Soil
microorganiams  decompose the organie
components of sewage and slurry and
mogt of the mineral nuotrients become
available to be absorbed again by the
viogetabion.

The excess input of nutrients, both
mitrogen and. phosphorus — based, from
agricultural runoff (and human sewage)
has cavsed many ‘healthy' oligatrophic
lakez (low nutrient concentrations, low
plant productivity with sbundant water
weeds, and clear water) to change to
eulrophie condition where high nutrient
inputs lead to high phytoplankton
productivity (sometimes dominated by
bloom-forming toxic species). This makes

B-BRO-M-HTE [ 20 — A )
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the water turbid, eliminates large plants
and, in the worst situations, leads to
anoxia and fish kills; so called cultural
eutrophication. Thus, rmportant
ecosystem services are logt, including the
provigioning service of wild-caught fish
and the cultural serviees associated with
recreation.

The process of eultural
eutrophication of lakes ‘Thas been
understood  for some. time. But only
recently did scientizts notice huge ‘dead
gones’ in the oceans near river outlets,
particudarly  those
eatechment areas such as the Mis=issippi
in MNorth America and  the Yanptze in
China. The nutrient-enriched water fowz
through streams, rivers and lakes, and
eventudlly to the estuary and oscean where
the ecological impact may be huge, Hﬂing
virtually all invertebrates and fish in
areas up to 70,000 km® in extent. More

draining large

than 150 sea areas worldwide are now
regularly starved of cxygen as a result of
decomposition of algal blooms, fuelled
particularly by nitrogen from agricultural
runoff of fertilizers and sewage from large
vilies, Oceanic dead zones are typically
associated with industrialized nations and
usually lie off countries that subsidize
their agriculture, encouraging farmers to
increase productivity and use more
fertilizer,

| 22 — A )

37. Aecording to the passage, why should

the dizcharge of agricultural slurry into
waterconrsea be restricted 7

1. Laosing nutrients in this way is not a
good practice economically,

2. Watercourses do not contain the
microorganisms that can decompose
organic components of agricultural
slurry.

3. The discharge may lead to the
eutrophication of water bodies.

Select the correct answer using the codes
given below :

fa} 1 only
{b) 2 and 3 only
(el 1 -and 3 only

(dy 1,2 and3

The passage refers to the conversion of
“sollutant to  fertilizer®. What s
pollutant and what is fertilizer in this
context ?

ia) Decomposed organic component of
glurry ig pollutant and
microorganisms . in  soil constitute
fertilizer,

ib) Discharged agricultural slurry s
pollutant and decomposed slurry in
soil is fertilizer,

{¢) Bprayed slurry iz pollutant and
watercourse is [ertilizer,

{d) None of the above expressionz is
' gorrect in this context.
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According to the passage, what are the
effects of indiseriminate use of fertilizers ?

1. Addition of pollutants to the soil
and water,

2.  Destruction of
microorganisms in soil,

decomposer

4. Nutrient
bodies.

4, Creation of algal blooms.

Seleet the correct answer from the eodes
given below :

enrichment of water

{(a) 1,2 and 3 only

b} 1, 3and 4 only

{e) 2 and 4 only

id) 1,2, 3 and 4

What 1sfare the characteristics of a water
body with cultural eutrophication ?

1. Loss of ecosystem services
2. Loaz of Nora and fauna
d.  Laess of mineral nutrients

Select the correct answer using the code
given below 3

(a) 1 only
(b} 1 and 2 only
(e} 2 and 3 only

(d) 1,2 and 3

{1 "

42,

:'24-.&:

What is
passage ¥
{al Appropriate legislation is essential to
protect the environment.

Modern agriculture is responsible for
the degtruction of environment.
Improper waste disposal from
agriculture can destroy the aguatic
ecisyelems,

Use of chemical (fertilizers is
undezirable in agriculture.,

the central theme of this

(b

e

i}

Passape — 2
The miseries of the world cannot
he cured by physical help only. Until

‘man's nature changes, his physical needs

will always arise, and miseries will always
be felt, and no amount of physical help
will remove them completely. The only
solution of the problem is to make
mankind pure. Tgnorance is the mother of
evil and of all the misery we see, Lol men
have light, let them be pure and
spiritually, strong and educated; then
alone will misery cease in the world. We
may convert every house in the country
into a charitable asylum, we may fill the
land with hospitals, but human misery
will continue . until mans character
changes,

According to the passage, which of the
following statements iz most likely to be
true as the reason for man's miseries ?
() The poor economic and social
conditions prevailing in society.

The refusal on the part of man to
change his character.

The absence of physical and material
help from his society,

Ever inereasing phyvsieal needs dus
to changing social structure,

(bl

el

(d)
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43. With reference to the passage, the

5
(e)
3 &
(b}
fel
td)
B-BRO-M-HTB

following assumptions have been made :

1. The author gives primary
importance to physical and material
help in eradicating human misery,

2. Charitable homes, hospitals, etc. can
remove human misery to a great
eXLent.

Which of the assumptions is‘are valid ?

(al

({7

(ch

id)

1 only

2 anly

Both 1 and 2
Meither 1 nor 2

Consider the following figures 1,2, 3and 4:

o
: - . P
=3 a

1 2 o 4
In the figures from 1 to 4 above, two
symbols are shown to change their
position in a regular direction. Following
the same sequence, which one of the
following will appear at the fifth stage 7

Directions for the following 2 (two) items :

45,

46.

(26 - A}

In each item, there are two sets of figures;
first four figures named Problem figures
and next jfour figures named Answer
figures indicated as (a), (b, fc) and (d).
The problem figures follow a particular
sequence, In occordance with the same,
which one of the four answer figures
should appear az the fifth figure ?

Problem figures :
Answer figures :
(al (b} lch (et
Problem figures ;
Answer figures ;
o) i i) idi
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61.

A cube has six numbers marked 1, 2, 3, 4,
Goand G on its faces, Three views of the
cube are gshown below |

What possible numbers can exist on the
two faces marked (A) and (B, respectively
on the cabe ?

@

= |

(ay 2andd
thy & and 1
ted 1 and 4
(dl Fandl

Dirvection for the follmecing 5 (five) items :

B-BRO-M-HTB

Study the two figures given below and
arsteer the fve items that follow |

1
2R
241
20
ik o
i

im

THSEE Twaemss Lrl1n1 BULANT PHNCRLLSET [CANOMBEY

. Male Female

Figure 1 Number of Professors in
selectod disciphines in a University by sex

52,

4.

o0,

| 30 - A}

s a4

E72s5 - 34
[]60 - 65

B 45 - 59

Figure 2 : Are of Physics Proféssors

How many Physics professors belong to
the age groop 356 — 44 7

(=) 18
(b 16
fer 14
(d) 12

Which one of the following disciplines has
the highest ratio of males to females 7

(a) Physics

(b Mathematics

el Chemistry

id) Economies

What percentage of all Psychology
profeasors are fomales ?

(&) 405

(b} BO%

(ey GO%

(d) TO%

If the mnumber of female Physics

professors in the age group 25 - 34 equals
20% of all the Physics professors in that
age group, then what is the number of
male Physics professors in the age group
25 -3 7

{al
(b} &
{e) 3
dy 2
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(a) 233
ih) 631
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id) 33k
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({31 - A}

| EGEEE
(725 - 34
[Fls0 - 65
B4 45 - 59

Hifirht & fase e 35 — 44 & g woE A
g7 :

(a) 18

ib) 16

(e) 14

(dy 12

Prfafea & & fisg oo am & g
U wad it # ?

{a) HifEH

(b} T

(¢) TEvae fem

(d) Frefore

EifaEE B B st A feat @ ofaes
G S

(a) 40%
(b} 50%
(c} BO%
(d) 0%

gl Wil # 25-34 sy W @& =
AE! W W, I Fg wE 6 e &
T et w5 25% &, & 25 - 34 wg W
6 il & g wromeE o W a2
(a) &

(b)
{c)
{d)

b2 2 o
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56. If the Psychology professors in the
University constitute 2% of all the
professors in the University, then what
is the number of professors in  the
University 7
ta) 400
(b} 500
(c) 600
d) T00

57. Consider the following figures ;

(1} (2} (3} (4)
(5) (6) (7
Which ane of the following f s would
logieally come in the 7 position
indicated above by & question mark 7
{a)
w (O
il
B-BRO-M-HTB

(32 -A)

Directions for the following 2 (two) items

Read the following passage ond answer
the two itema that follow. Your answers to
these ftems should be based on  the
passage only.
Passage

¢ Ecologieal research over the last
guarter of the century has established the
deleterious effects of habitat
fragmentation due to mining, highways
and such other -intrusions on forests,
When a large block of forests gets
fragmented into smaller bits, the edges of
all these hits come into contact with
human activities resulting in  the
degradation of the entire forests
Continuity of forested landscapes and
corridors gets disrupied affeciing several
extinction-prone  species  of  wildlifie.
Habitat fragmentation is  therefore
considered as the most serious threal to
biediversity conservation. Ad hoe grants of
forest lands to mining companies coupled
with rampant illegal mining i
aggravating this threat.
What is the central focus of this passage 7
{a) Illegal mining in forests
(b) Extinction of wildlife
(e} Conservation of nature
id) Disruption of habitat

What is the purpese of maintaining the

continuity of forested landscapes and

corridors 7

1. Preservabion of biodiversity.

2. Management of mineral resources.

3. Grant of forest lands for human
-activities:

Helect the correct answer using the codes

given below:

(@) 1 only

ib) 1and 2

(¢) Zand 3

(d) 1,2 and 3
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In n rare eoin collection, there ic one
gold eoin for every three non-gold coine.
10 more gold coins are added to the
collection and the ratio of gold coins to
non-gold coing would be 1:2. Based en
the information, the total number of
eoing in the collection now becomes

(a) 80
(b} B0
fe) 60
id) 50

A gardener has 1000 plants. He wants
to plant them in such a way that the
number of rows and the number of
columns remaing the game. What is the
minimum number of plants that he
needs more for this purpose ¥

{a) 14

(b) 24

feh 32

(d] 34

A sum of T 700 has to be used to give
seven cagh prizes to the students of a
school  for their owverall academic
performance. If each prize i ¥ 20 less
than its preceding prize, what is the
least value of the prize ?

(a) T30

by 40

e} %60

idy T80

{34 - A

Qut of 120 applications for a post, 70 are
male and 50 have o driver’s license. What
iz the ratio between the minimom o
maximum number of males having
driver's ficenze 7

{a) 1102

(b} 2tod

e} JtoT

(dl GtofT

In a garrison, there was food for
1000 soidiers for one month. After
10 days, 1000 more soldiers joined the
garrison, How long would the soldiers be
able to carry on with the remaining food 7

ta) 25 davs
(bl 20 days
el 15 days
{d) 10 days

The tank-full petrol in Arun's motor-cycle
lasts for 10 days. If he starts using 25%
more everyday, how many days will the
tank-full petrol last ?

{a} b
(b} &
(e} T
d) 8

A person can walk a certain distance and
drive back in six hours, He can also walk
both ways in 10 hours, How much time
will he take to drive both ways ?

(a) Twa hours
(b} Two and a half hours
i¢)  Five and a half hours
{d) Four hours
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Directions for the following 8 (eight)
tlemes ;

67.

P #

The following eight ttems fitems 67 to 74

are based on three passages in English

to test the comprehension of English

language and therefore these items do

nol have' Hindi version. Rewd eoach

paszage and answer the items that follow,
English Passage - 1

Seven-year-old Jim came home
from the park without his new bicycle.
“An old man and a little boy borrowed it,"
he explained. “They are going to bring it
back at four o'clock,” Hig parents were
upset that he had given his expensive new
bicyele, but were secretly proud of his
kindness and faith. Came four o'clock, no
hicvele. The parents were anxious. But at
4:30, the door bell rang, and thers stood a
happy man and a boy, with the bicycle
and a box of chocolates, Jim suddenly
disappeared into his bedroom, and then
came running out. “All right,” he said,
after examining the bicyele, “You can have
vour watch back

When Jim came home without his bicyele,

his parents
fa) wore angry with him.
ib)  ware worried,
{el  did not feel concerned.
id) were cager to meet the old man and
the little boy,
68. Jim returned the watch to the old man
and the little boy because
ia)l they gave him chocolates.
(b} his father was proud of him.
ie) he was satisfied with the condition
of hiz bicycla.
{d) they were late only by 30 minutes.
B-BRO-M-HTB { 38

71.

English Passage - 2

It was already late when we set out
for the next town, which acecording to the
map was about Afteen kilometres away on
the other side of the hills. There we felt
thot we would find a bed for the might.
Darkness fell soon after we left the
village, but luckily we met no one as we
drove swiftly along the narrow winding
road that led to the hills. As we climbed
higher, it became colder and rain began to
fall, making it difficult at times to gee the
road. | asked John, my companion, io
drive more slowly. After we had travelled
for about twenty kilometres, there was
still no =ign of the town which was
marked on the map, We were beginning to
get worried. Then without warning, the
car stopped and we found we had run out
of petrol. ;

The author asked John to drive more
glowly because :

(a) the road led to the hills

(b) John was an inexperienced driver.
(¢) the rond wag not clearly visible.

(d) they were in wilderness.

The sravellers set out for the town
although it was getting dark because

(n) they were in a hurry.

(b} the next town was a short distance
away and was a hill-resort.

they were in wilderness,

the next town was a short distance
away and promised a good rest for
the night.

The travellers were worried after twenty
kilometres because

el
id}

{a) it was a lonely countryside, '

(b) they probably feared of having lost
their way,

{e) the rain began to fall

(d) it was getting colder as they drove.

=Ry
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Frafafam 8 (W) Feer (v 67 & 74)
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English Passage - 1

Seven-year-old Jim came home
from the park without his new bicycle.
“An old man and a little boy borrowed it,"
he explained. *They are going to bring it
back st four o'cleck.” His parents were
upset that he had given his expensive new
bicycle, but were secretly proud of his
kindness and faith. Came four o'clock, no
bieyele. The parents were anxious. But at
4:30, the door bell rang, and there stood a
happy man and a boy, with the bicycle
and a box of chocolates, Jim suddenly
disappeared into his bedroom, and then
came running out. “All right" he said,
after examining the bieycle. “You can have

‘your watch back !

When Jim came home without his bicycle,

his parents

(a) were angry with him,

(h) were worried.

te)  did not feel eoncerned.

(d) were eager to meet the old man and
the little boy.

Jim returned the watch tw the old man

and the little boy because

{a) they gave him chocolates.

bl his father was proud of him.

(¢} he was satisfied with the condition
of his bicycle.
idi they were late only by 30 minutes.

| 37
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English Passage - 2

It was already late when we set out
for the next town, which aecording to the
map was aboul fifteen kilometres away on
the other side of the hills. Thers we felt
that we would find a bed for the night
Darkness fell soon after we lefi the
village, but luckily we met no one as we
drove swiftly along the narrow winding
road that led to the hills. As we elimbed
higher, it became eolder and rain began to
fall, making it difficult at times to sce the
road. 1 asked John, my companion, to
drive more slowly. After we had travelled
for about twenty kilometres, there was
still no sign of the town which was
marked on the map. We were beginning to
get worried, Then without warning, the
car stopped and we found we had run out
of petrol.
The author asked John to drive more
slowly because
fa) the road led to the hills.
ib) John was an inexperienced driver.
i} the road was not clearly visible
id) they were in wilderness.

The travellers set out for the town

although it was getting dark because

{a} they were in a hurry.

{b) the next town was a short distance
away and was @ hill-resort,

ey they were in wilderness.

(d) the next town was a short distance
away and promised a good rest for
the night.

The travellers were worried alfter twenty

kilometres because

{a} it was & lonely countryside.

ib) they probably feared of having lost
thear way.

ie) the rain began to fall.

(d) it was getting colder as they drove.
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English Passage - 3

A stout old lady was walking with
her basket down the middle of a street in
Petrograd to the great comfusion of the
traffic and no small peril to hersell. It was
pointed out to her that the pavement was
the place for foot-passengers, but she
replied, “I'm going to walk where T like.
We've got liberty now.” It did not oceor to
the dear lady that if liberty entitled the
foot-passenger to walk down the middle of
the road it also entitled the taxi-driver to
drive on the pavement, and that the end
of such liberty would be universal chaos
Everything would be getting in everybody
elee’s way and nobody would get
anywhere. Individual liberty would have
become social anarchy.

It was puinted out to the lady that she
should walk on the pavement becsnse she
was

(el
(1]
Ll
(d}

a pedestrian,
esrrying o basket.
stout,

an old lady.

The lady refused to move from the middle
of the streel because

(n) she was not afraid of being killed.

(b} she felt that she is entitled to de
whatever ahe liked,

she did not like walking on the
pavement.
she was confused,

)

(d}

The old lady failed to realise that
(ETH]
thi
[ch
fid

she was not really fres.
her liberty was not anlimited,
zhe was an old person,

roads are made for molor vehicles
only.

Directions for the following § (six) items :

75..

| 38 - A )

Given below are six items, Eack item
deseribes a situation and is. followed by
four  possible responses,  Indicate  the
response  you find most  appropriate.
Choose only one response for each. item.
The responzes will be evaluated based on
the level of appropriateness for the given
sitwation.

Please attempl all the items. There iy
no penally for wrong answers for
these siv items.

You are the head of your office. There are
certain houses reserved for the allotment
to the office staff and you have been given
the discretion to do so. A set of rules for
the allotment of the houses has been laid
down by you and has been made public.
Your personal secretary, who is very close
to you, comes to you and plends that as
his father iz seriously ill, he should be
given priority in allotment of a house, The
office secretariat that examined the
request as per the rules turns down the
reguest and recommends the procedure to
be followed according to the rules. You do
not want Lo annoy  your  personal
secretary. In such circumstances, what
would vou do ?

{a} Call him over to your room and
peraonally explain why the allotment

cannot be done,

Allot the house to him to win his
loyalty,

(bl

led  Apree with the office note o show
that you are not biased and that you

do not indulge in favouritism,

(d) Keep the file with you and not pass

any orders.
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English Passage = 3

A stout old lady was walking with
her bagket down the middle of a strest in
Petrograd to the great confusien of the
traffie and no emall peril to herself. 1t was
pointed out to her that the pavement was
the place for foot-passengers, but she
replied, “I'm going to walk where I like.
We've got liberty now.” It did not occur to
the dear lady that if iberty entitled the
foot-passenger to walk down the middle of
the road it alse entitled the taxi-driver to
drive on the pavement, and that the end
of such liberty would be universal chaoa,
Everything would be getting in everybody
else’s way and nobody would pget
anywhere. Individual liberty would have
hecome social anarchy,

It was pointed out to the lady that she
should walk on the pavement because sha
WHs

ia] a pedestrian.

(h) carrying & basket.

{e) stout.

{d} an old lady.

The lady refused to move from the middle
of the street because

ia) she was not afraid of being killed.

(b} she falt that she is entitled to do
whatever she liked,

¢} she did not like walking on the
pavement,

(d) she was confused,

The old lady failed to realise that
(g} she was not really free.

(b} her liberty was not unlimited.
e} she wasg an old person.

id} roads are made for motor vehicles
anly.
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While travelling in a Delhi-registered
commereial taxi from Delhi to an adjacent
city famother BState), your tox driver
informe you that as he has no permit for
runming the taxi in that city, he will stop
at its Transport (ffice and pay the
prescribed fee of ¥ forty for a day, While
paying the féee at the counter you find that
the transport clerk is taking an extra fifty
rupees for which no receipt is being
given. You are in a hurry for your
meeting. In soch circumstancos, what

would vou do ?

(a) Go up to the counter and ask the
clerk to mve back the money which
he has illegally taken.

(b} Do not interfere at all as this is a
matter between the taxi driver and

the tox autharities.

ie} Take note of the ncident and
subsequently report the matter to

the concerned authorities,

(d) Treat it as a normal affpir and
simply forget about it

[ 40 - A}

77. A person lives in a far off village which

two hours by bus. The
villager’s neighbour i1s a very powerful
landlord who 15 trying to occupy the
poor villagers land by force. You are
the District Magistrate and busy in a
meebing called by a Jocal Minister. The
villager has come all the way, by bus

i5 -almost

and on fool, to see you and give an
application sesking protection from the
powerful landlord. The villager keeps on
waiting outgide the meeting hall for an
hour. You eome out of the meeting and
are rushing to another meeting. The
villager follows wou to submit his
application, What would you do 7

fa) Tell him to wait for another two
hours till you come back from your
next meeting,

(b} Tell him that the matter is actually
to be dealt by a junior officer and
that he should give the application
to him.

(el Call one of yvour senior subordinatc
nfficers and ask him to solve the
villager's problem.

(d) Quickly take the application from
him, ask him a few relevant
guestions regarding his problem and
then proceed to the meeting,
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7T8. There iz a shortage of sugar in your

District where you are the District
Magistrate. The  Government  has
ordered that only o maximum amount
of 30 kg sugar is to be roleszed for
wedding celebrations. A son of your
close friend is getting married and your
friend requests yvou to release at least
50 kg sugar for his ‘son’s wedding. He
expresges annovance when you tell him
about the Government’s restrictions on
this matter. He feels that sinee you are
the Dhistrict Magistrate you ecan release
any amount. You do not want to spoil
your friendship with him. In  such
nrcumstu.nm. how would you deal with
the situation ?

(e} Release the extra amount of sugar
which “vour friend has requested
for.

by Refuse your friend the extra amount
and strietly follow the rules.

(e) Bhow your friend the copy of the
Government instructions and r.hg:i
persuade him to accept the lower
amount as preseribed in the rules,

id) Advise him to directly apply to the
allotting authority and inform him
that wou - do not interfere in this
malter,

({42 - A )

79. You are in-charge of implementing the

Family Planning programme in an area
where there is a strong oppesition to the
present policy. You want to convince the
residents of the need for keeping small
families. What would be the best way of
communicating this message ?

(a) By logically explaining to the
residents the need for family
planning to improve the health and
living standards.

(b By encouraging late marriages and
proper spacing of children.

fed By offering wncentives for adopting
family planning devices,

idl By asking people who have been
sterilized or are using contraceptives
to directly talk to the residents.

You are a teacher in a University and are

setting n question paper on a particular

subject. One of your colleagues, whose son

is preparing for the examination on that

subject, comes to you and informs you
that it s his son’s last chance to pass that
examination and whether vou could halp
him by indicating what questions are
going to be in the examination. In the
past, your colleague had helped you in
another matter. Your ecolleague informs
you that his son will suffer from
depression if he fails in this examination,
In such circumstances, what would vou
do 7

(2} Imwview of the help he had given you,

extend vour help to him.

ib) Regrét that you cannot be of any
help to him.

ic) Explain to your colleague that this
wonld be violating the trust of the
University apthorities and you are
not in @ position to help him.

(dl Report the conduct of your colleagues
" to the higher authorities.
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